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Question Number : 1 Question Id : 5915042115 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which one of the following is not a composite number?
& Bob 8E° Dodhog Dogy PO

Options :

w16

99

2. %

917

3.9

18

4. %



Question Number : 2 Question Id : 5915042116 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The nmudpoint of a line segment joining the pomnts (-4, -6) and (4, 6) 1s
(-4, -6) 0005 (4, 6) @ DoHHOD BN VIPPOLEW DG oY

Options :

. (0.0)
,w (-8:-12)

(-2,-3)

3. %

s 23)

Question Number : 3 Question Id : 5915042117 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The degree of the polynomial 5x* + 2x2 — 1 is
5x% + 2x?% — 1 @00 25V TBNE), DOHTL0

Options :

1. % 0

. 2

2.



sv 4

Question Number : 4 Question Id : 5915042118 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Among the following, an urrational number 1s
& 800 A 2.8 S8AD K09

Options :

|« 1.123444 .

, » 1.101001000. .
.« WIEIOID....

, « 1. 10101010...

Question Number : 5 Question Id : 5915042119 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
(] 5 2
—4+—X= =
7 14 5
Options :
17
35

1. *



1
4. % 7

Question Number : 6 Question Id : 5915042120 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
1.3 =
Options :
13
L% 10

W |

o]

Question Number : 7 Question Id : 5915042121 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question



Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

. : X 1 :
What amount 1s to be repaid on a loan of Rs 2000 for 1 > year at 10%

per annum 1f mterest 1s compounded half yearly? (in rupees)

@8 H0NBITRFTEIO IEIB (HFB0 BEY 35S 005¢8 )78 10%
RO R 1l H0HEB T 2000 G0N K0 SO TOOTTE )
050 @od%@ (BraraHOS)

Options :

|« 2300

x 2325.25

(9%)
®
-2
L
-2
=
)
tn

N
4
-2
a2
[a—
_n
-2
Lh

Question Number : 8 Question Id : 5915042122 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The product of additive inverse of 5 and multiplicative inverse of -5 1s
5 R0E) HDOZOS DS N0 0O -3 TNE), (HEISS DS DO VO

Options :
1. % 25



4o =

Question Number : 9 Question Id : 5915042123 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
log,32 =
Options :

3

1, ® =

Question Number : 10 Question Id : 5915042124 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

IfA={1.2.3} and B= {1, 2, 3, 4}, are two sets, then the relation between them 1s
A=1{1,2,3} 0axm B={l,2,3,4} e0 DotH Snehen eond a8 DG Sonoeien

Options :



. x A=B

Ac B

2.¥

« ADB

.A€EB

Question Number : 11 Question Id : 5915042125 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

(3a+2b+c¢) (9a2 +4b” + ¢” - 6ab - 2bc - 3ca) =
Options :

| » 27a+8b’+c’-18abce
- 9a™+4b’+c’-6abe

L % 27a’+8b’+¢ +6abe

. 9a’+4b™+c +6abce

Question Number : 12 Question Id : 5915042126 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



If the area of a thombus 1s 75 Sq.cm and length of one diagonal 1s15 cm, then
length of other diagonal 1s
2.8 TPODT F3°50 75 9.20.20. SOOI ) 2,8 G50 s

15 00.20. @00, HTE QK50 °chs)

Options :

- 7.5 cm

- 12 cm

; x Scm

P 10 cm

Question Number : 13 Question Id : 5915042127 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The curved surface area of a Cone with base radius 4.9 cm and slant height
10 em 1s

4.9 0.0 &P aSarQ0 SO0 6 PN D) 10 0.20. EORS 0509 AZ0E,
J|EHO IFTOS0

Options :

w150 cm’

, » 164 cm’



. 2
; v 154 cm

160 cm’
®

4.

Question Number : 14 Question Id : 5915042128 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If AP and AQ are the two tangents of a circle with centre ‘O’ and £QOP = 120°
as shown 1n the figure, then ZPAQ =
H08° r2d¢ge AP SH0d» AQen ‘O’ Soore Ko HHdo @BwE) Botd K)8) Tpen

500050 £QOP = 120° owad, LPAQ =

Options :

x 80°



40°

4. %

Question Number : 15 Question Id : 5915042129 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

From the mformation given in the below figure, values x° and y° respectively are
808 He0&® BN BererBo o0&, S X°HdAn v° Denden

A

Options :

 » 40° and 30°
, » 30° and 40°
50° and 20°

20° and 50°
4. %



Question Number : 16 Question Id : 5915042130 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which one of the following trigonometrical 1dentity 1s not correct.
& 800 TBS® FOFIO SR (85 eaEADH HTFDESe .

Options :
= 2] L5
| x SMA+cos’A=1

2 G
, » tan A+cottA=1

, » cosec’A - cot’A =1 for (0°< A < 90°)

4. % sec’A - tan’A =1 for (0°< A < 90°)

Question Number : 17 Question Id : 5915042131 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Among the following, which 1s not a rule for congruency of triangles.
& (Bod AS® (Bghere JBWIPSE D00 A6

Options :
| % SSS

, ¢ AAA

, % SAS



ASA

Question Number : 18 Question Id : 5915042132 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The modal class 1n the following frequency distribution table 1s
808 FPI:)DS Deredd HEIESQ ersTueE 5 ifed

65-75

'y
'!;.n
=
i

25-35 | 3545 | 4555

L
]

i
L
—
_n
1

[ ]
LI

Class

21 23 11 8 4

o
]
L=

Frequency

Options :
w 25-35

Question Number : 19 Question Id : 5915042133 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
A solution of an equation 3x + 2y =4 1s
3x 42y = 4 SDEG0 TN, 28 TP



Options :

1.¥ (2-1)

Question Number : 20 Question Id : 5915042134 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If a quadratic equation ax’+bx+c=0, (a # 0) has two distinct real roots, Then
2,8 3G DEB0 ax” +bx +¢ =0, (a # 0) DO DD 3 e
¥OB &0

Options :

b*—4ac=0
®

1.

- b*—4ac >0

b’ —4ac <0

3. %

L x b’ —4ac <0



Question Number : 21 Question Id : 5915042135 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Venu wanted to separate salt from saltwater. Which of the following processes

are useful to him?
6P ([edeo Dol GaYp SEHBSrOR It rQomedd. & (Bod 78S ©sd8

BADTEIG Heeen D?

1) Filtration
DS

1) Crystallization
ﬁo}&éétﬁmo

1) Evaporation
&8y afS50

1v) Chromatography
ESrest S

Options :
. L

) 11, 111

111, 1V

3. %

Lx L1V



Question Number : 22 Question Id : 5915042136 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s basic in nature?
Bod BS® g8 Jggro Ko Do dO?

Options :
Lemon juice
QB0
.

Tooth paste
S DR
o €@

Soft drink
= (o]

Coftee
S

4. %

Question Number : 23 Question Id : 5915042137 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Rawv1 travelled in his car for 2hrs, the car odometer reading changed from
15294 to 15382. The average speed of Ravi’s car 1n this journey 1s
59 835525 £.8506t0 6&0rd 15294 008 15382 TBIEH (PA5eB05meR8 2 Hobe

BHADo DHoh. & (HATB0S® @Y B JHTWO & Jog?
Options :
60 Km/h
| = 60 8. 5n/t5o

88 Kmvh
- 88 &.5 /150

44 Km/s
. w44 8.5/

44 Kmv/h
44 8.5 /150

4.

Question Number : 24 Question Id : 5915042138 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
From the following identify the material which contracts when its
temperature 1s raised.
8o 0&° 68PN DoDBHPED ol Ale Slagehb

Options :



Air
L% o

Water
B

2

Wood

2%
3.¢ L §
Metal
, x B0

Question Number : 25 Question Id : 5915042139 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Among the following, an action that increases friction is
Bod &S 0B £ 00B0EE SHRFEHE HR
Options :
Applying lubricants
, 50830 arédo

Using rolars / ball barings

| Sleve S oS TooRwdH BI@rA0SEo
2.



Improving the roughness of the surfaces i contact
. =< =
- QoSere AR DOBEO

Improving the smoothness of the surfaces i contact
e éﬂjﬂgé@&: &Zéa@csm@_ o0dE0

Question Number : 26 Question Id : 5915042140 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is not related to 4R principle followed to avoid indiscriminate
use of Plastics.
DSEeFEErEDE LR MVFrrRy ©8EBoE Ho¥o ar8o3 4 RirEredy JonogosRs.

Options :

Repair

FosEne Saheso
1.¥ =

Reuse

L Hode GH@rAoSE0

Reduce
ShoBso
S 0

3.

Recycle
S8R SHBrA0SEHE edireoorr $0irIchEo

4. %



Question Number : 27 Question Id : 5915042141 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is not an example for Newton’s 3* Law.
Bod >B&° Boogeon 38 S VoHErDE * emeerde =06

Options :

Rocket moving upwards from the earth

goe0 Dol ToE¢5 8 ARBEo

A man walking on a straight road
8¢ Ogr SrBod® a8 K8 SEBBo

A stone freely falling from a certain height

EP08 D) Hod ¥ Traw 'ﬁ;:Jz‘SJrP slelntilafafo
3.¢

Hitting a wall with our hand
28 B Ho% 388° K& Tyo

4. %

Question Number : 28 Question Id : 5915042142 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The chemical formula of sodium chloride
‘Véco BE’ @) BaraHE OB LD
Options :

SoCl

1. %



, » SoCh

; » NaCh

iy NaCl

Question Number : 29 Question Id : 5915042143 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following can focus the sun rays at a point?
Bod 0&° JegBeror el Dot B 205%803K5ON8 28?
Options :

Concave mirror
% L= ]
- eSS ééﬂjmo

Convex nmurror

oSt cﬁdq)zao
2. %

Concave lens
DEFPTRS Béd¥o

3. %

Prism

He¥o
4, % 0%



Question Number : 30 Question Id : 5915042144 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Homogeneous mixture among the following
Bod RE° Deedich Q¥
Options :
mixture of sand and water
| x RB-m%0E So(Eoo

muxture of salt and water
- :%d:—&sﬁoy So|FS00

mixture of salt and sugar
63p-dodmrd DolFdo
3. %

muxture of o1l and water
4w DB-Er3 SoFHo

Question Number : 31 Question Id : 5915042145 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which part of the plant, the carrot belongs to
Ldo eEsorr &5%3 G“E‘}Bég, E'mﬁg_éﬁ&} D el 30656
Options :
Leaf
H(go

], ®



Stem
, % S°0%O

Branch
E"é}&
S

3.

Root
by SO

Question Number : 32 Question Id : 5915042146 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT pair from the following
808 HS° J82Q 2D KHBoNod

Options :
Chicken pox - Virus
L x DD - 28I
Malaria - Plasmodium
L % BB - apRfBaho
Skin disease - Scabies mutes
5 % STER - FED
Japanese Encephalitis - Bacteria
DEE T T - oeBedie
4.4 © %



Question Number : 33 Question Id : 5915042147 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Identify the CORRECT sequence from the following regarding agricultural

practices
HETD HDHoH Jowosod Sob T8 $Bowd (¥do Ko w0 KHBoSod

Options :
preparing the soil - 1rrigation < crop harvesting - sowing of seeds
J0d> PG BahEo > DBFtse > HotlE > DEzren ko

1. ®

preparing the soil = sowing of seeds - urigation = crop harvesting
, o S0 dgo Iaho > dETren Ko > VBFHE > Jot™s

sowing of seeds = preparing the soil > weeding-> crop harvesting

. DE=ren w0 > Jod e RHE0 > Bensd &ch%o > Hoek s
3.

preparing the soil = weeding - sowing of seeds = crop harvesting
Sod dFo BabKo > Levd) EahEo> ETer TwB0> Howt

4. %

Question Number : 34 Question Id : 5915042148 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



A person suffering from knock-knees, weak bones and swollen wrists due to
Calciferol (D) vitamin deficiency. Identify the disease with these symptoms
2.8 K58 s oS (D) LS &0 5 poird ddnX¥en, noFE ToiH&°

mﬂcﬁéd:é:m&cﬁ:. & oFren Ko %8 &
Options :
Scurvy
2%

Pellagra
2 % 80T

Rickets
B2

3.¢

Beriberi
, « D03

Question Number : 35 Question Id : 5915042149 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Identify the endangered species from the following
Bod T8S° o8B0 £DH KHBoSos
Options :
Vultures

v orotHen



Dinosaurs
34_:-..-"
) TEODeeD
Kangaroos
;% Sorrdoen

Elephants
4 % 0rben

Question Number : 36 Question Id : 5915042150 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which cell organelles shows cellular respiration and produces energy needed by the cell
ZerQ8 ool 38R 68)8 Do L PBod a8 Serorin
Options :
Ribosomes
- BB men
Mitochondria
, v D&S°srol@asir

Lysosomes
BPE Loen

3. %

Chloroplasts
, x °B8TeH



Question Number : 37 Question Id : 5915042151 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Identify the CORRECT sentence from the following
808 BS° HBawd TSRy HBoSod

Options :

The discharge of water that has been used to cool industrial equipment do not
cause water pollution.

HBFHeE’ cholgrod IendHend &dErA0D A SPensyo EOR0W

The use of synthetic detergents should be increased to control water pollution.
20585 &&go@ﬁa QENDe B0 oo é&?&ﬂ&g@ é@oiﬁéiﬁa&

Heat 1s a source of pollution in water.
&30 e D% Zenhdo =508 2.8 oo

Trees and shrubs planted along the banks of the rivers increases water pollution.
S &80 Toxd 2OH Jép, srSen é&wm&g@& HoomEaw

Question Number : 38 Question Id : 5915042152 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



The material used in the experiment to identify the presence of Carbon dioxide in exhaled air
608 mdS° Y] BeE)E €080 BT b AEErod (BRrril oSSERE dugo.
Options :
lodine
OTFES

1. ®

Potassium hydroxide
grércho EER)E

2. %

Safranin
- TP

Lime water
e s
L m@@géﬁ

p

Question Number : 39 Question Id : 5915042153 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Identify the INCORRECT sentence from the following
808 TBS° B8R SesgRY doSod

Options :
1.

Deoxygenated blood flows 1n the arteries and oxygenated blood flows 1n the veins in our body.
08 BBBoS° R FHH0E® wKedBIrd 850, dBoE® ©Hedcneg SEo (HHerob



The size of heart 1s approximately the size of our fist.
, » 1008 Sfrdore i HEED H05r08” Gotnod

Doctors measure the blood pressure with a device called sphygmomanometer.
Syetes) E5HERY QRS 008 ©3 Hosdo Tro Terrsd

One contraction and relaxation of atrias and ventricles of heart 1s called one
cardiac cycle.

Koastd ﬁgﬁm, e3¢0BXen 2.8 Ho%Pdod), Ciﬁ:itp“'%}@ﬁ é'é:; 0 2.8 f.ﬁ%ﬁé&ncﬂi}o
©0eT%D

Question Number : 40 Question Id : 5915042154 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Identify the following picture related to vegetative propagation in plants
wBed® =60 TR (D888 Jow060DS Bob D(E=R) HBoNod

Mo

Options :



Cutting
i &80

1.

Layering
, ©On&EENE

Grafting
o
;v BOLDTEPRE

Stolon
@3&:5

4. %

Question Number : 41 Question Id : 5915042155 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

On these two days throughout the world day and night are equal.
(©D0F SgRHore HHe, ool@ SSrSore &0G Bo Blaren
Options :

June 21, December 22
L x @7 21, 8oxb 22

March 21, September 23
, &8 21, Jox6 23
2.¢ €

March 21, December 22
i} 58y 21, &onb 22

3.



June 21, September 23

oo 21, o8 23
4. % &

Question Number : 42 Question Id : 5915042156 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The Plateau rich in mineral deposits 1s
edes Deren od8orr 2OA &s@ 585780
Options :
Chota Nagpur Plateau

v Ser RGP H5o

Malwa Plateau
- Soegen 5825280

Bundel Khand plateau
. 20035 Po& B

Bhaghel Khand Plateau
. RS $ob B

4.

Question Number : 43 Question Id : 5915042157 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Dry hot local winds in the northern plains are
6800 PrrTres® TPAM, IR 60t AL HSTen
Options :
Westerlies
pvay: ) p.'ﬁ
1.$ ﬂd&é}&)mwm
Jet streams

, » B8 (BaePen

Trade winds
a
3 % LIPS DHTee

Loo winds

eT° DTeen
4.«

Question Number : 44 Question Id : 5915042158 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The ocean relief feature where natural gas and minerals are available is
So0BSE0D, S Froiwden &85 HDHFdH0E shrde ErHo
Options :
Continental slope
L% PoEESY Teen

Continental shelf
) PoEBEYH vodH



Deep Sea Plain
s x DFIX0E Hooemren

Oceanic Trenches
4 % 0TI oregren

Question Number : 45 Question Id : 5915042159 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
A city with a population of one million to 10 million 1s called as
HB e¥en - 558 ::fncﬁé aTrgr 68) SKoeR) see Henard
Options :
Towns
DeédePen
1. % [8]
Class 1 cities
e 1 Hvoren
2. % e
Metropolitan cities
s v DEFOErS SKoeen

Mega cities
4w FESHTE

Question Number : 46 Question Id : 5915042160 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question



Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Arrange the following in chronological order.
& (Bod 00 srodrdardo og)od
1. Salt Satyagraha
&3P JF N0
i1. Chauri Chaura incident
T8 To° JDoznerd

i1.  Quit India Movement
&:¢5 modasr etiEoo

1v.  Champaran campaign
Soards wo& S
Options :
L x v,1,1,1

, ¢ IV, 1L 1,1

L IV, 1L IL 1
4 % 1,11, 111, IV

Question Number : 47 Question Id : 5915042161 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



“Pallichchhandam” 1s one of the categories of land as mentioned in the
Chola mscriptions means.
e eliood® DB Prdve Ssred® wiBS “HgWotso” edre
Options :
Land gifted to temples
L% Sarodire D50E80d% b

Land gifted to Brahmins
, x ([EPSENOD 2E0EB0DS F&b

Land donated to Jaina mstitutions
B Jogel DoEDMS 4D

Land for the mamtenance of School
FEF0 Qe &IIPA0T &

Question Number : 48 Question Id : 5915042162 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Harappan people did not use this metal.
S8R (Hezen I@PACSD E°ro
Options :
Copper

1$U’°ﬁ



Silver
, % 308

Tin
Efatele
3. %

[ron
4 v B

Question Number : 49 Question Id : 5915042163 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The following is not the reason for the 1969 Telangana Movement
Bod ==0&° 1969 Beorrer 68508 odeeo o6,
Options :
Diversion of surplus revenue from Telangana to other regions
Seorrsd ™ B38ry Qkend 388 @romrod Hosio

1. ®

Implementation of Mulki rules
2‘\?5’333@)@_ Qoo eden Iohdo

Discrimination i employment in government sector
(HehS 8ok eardE HHES

3. %



Granting of domicile status to coastal Andhra people working in

Telangana region
Soorres ([@rodod® HBXY) 5 wol HrKed FREE S yosto

4. %

Question Number : 50 Question Id : 5915042164 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
A movement that put forward the concept of sustainable development 1s
R’:«J%é @&)@% @?6& TPHRD Ao E{‘.}JES &scﬁé;&énc.
Options :
Narmada Bachao Andolan
. Ny S wo&PES

Chipko movement
, x D&% 6o
Green peace movement
AS 5T a0
3. o

Meira Paibi movement
Sooe 2d €s885300

Question Number : 51 Question Id : 5915042165 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0



All decisions of the Government of India are made 1n the name of
B (950&; DJcTreR B %8S & oerd.
Options :
President
L m@éé’é

Vice-President
- G D“@a}e?
Prime Minister
- (S ool

Council of Ministers
oo(BBYo

4. %

Question Number : 52 Question Id : 5915042166 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The reason behind the efforts of a powerful country like USA to abolish
Gaddafi’s rule in Libya 1s
OB HoB FEH08ED 3o DSr &° Kerd el osINodoSERE D
Bodhenedh b0
Options :
to ban the export of Teakwood, food crop like rice
. Xod, &dﬂ)éo Hod @;’ﬁéwag@ B QndoSEo



the desire to control the large o1l reserves
SE0d Qoo BRZ0HEHE0

2.¥

to encourage the conditions of Tribalism
; x S (Frego DosSEo

to ensure freedom and equal status to women
. Sodrge f:;i@), J&ErS H % EoRiEko

4.

Question Number : 53 Question Id : 5915042167 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The constitutional amendment that reduced the voting age 1n the constitution
from 21 years to 18 years 1s
D‘Eﬁf}cﬁoéﬁ 8800 S 21 JoSgore Dok 18 JodgyoredH BRoDS Tesgon
JNBea.

Options :

th
60" amendment

60 & oremroRdNBes
1. ® o

61° amendment
A [a =g =l ~
- 61 S oees é@f{ﬂééﬁ



d
62" amendment
625 mw&ofﬁiédm

3,
64™ amendment
064 H TrazroRN 0N Be
4, % =

Question Number : 54 Question Id : 5915042168 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following does not fall under Right to Freedom
5 Goky (Bok
FedoED) L) (o ool wodo.
Options :
Freedom to move freely
R o Y
s ) 508803 S8
Right to Life
£003 FoBy

Abolition of Untouchability

4 i =
3 @d@%é Qo

Freedom to form Unions

A L o
4 % SOFFeIT DET L)

Question Number : 55 Question Id : 5915042169 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question



Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

1932 Poona Agreement was signed by
1932 &° e adjoBop Sosko TS

Options :
Mahatma Gandhi — Dr. B.R. Ambedkar
R4 553555@‘3 o - . 3.8, @cﬁéﬁ

Jawaharlal Nehiu — Dr. B.R. Ambedkar
288558 oS 0 - . §.wb. ©oBK)S

2. %
Subhash Chandra Bose — Dr. B.R. Ambedkar
grEx PolB £ - oo D.68. ©oBHK5
3. %
Ramaswamy Naiker - Dr. B.R. Ambedkar
i oo TeahEs - o, ).e5. @0565{;5
4.

Question Number : 56 Question Id : 5915042170 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The Financial year in India is
88 BFost ©% JodEBo edrr
Options :
from 1¥ January to 31% December
235858 1 Hod &onb 31 $8%

1. %



from 1% April to 31* March

L v OB 1 %08 508 31 $8%

from 1% March to 30™ April

58) 1 &od @S 30 H8%
3. %

from 1* March to 28™ February
, 08y 1 Do HHd 28 D%

4,

Question Number : 57 Question Id : 5915042171 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is not the aim of organic farming?
ﬂ o
2080 HPTrcho oFpo 506
Options :
Crop rotation
dotd oehd

1. %

Not using pesticides
, x DD Doden TEIBE0

Farming only one crop
v o8 Hoty arHACHE0



Use of Soil Micro-Organisms
DBoHe BOHE Dodho(SBes

4. %

Question Number : 58 Question Id : 5915042172 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

When the government wants to reduce the money 1n circulation, then it
BerHBS” 6 (B85 Soesdoeio SRoTreRHRDHEH (Hzheo o0 30
Options :
reduces tax on consumer goods

- DATrH SQDoP SN Dy HdoNEo
reduces tax on high income group

Q0D Bwrrdd Jorep SN Dy DhHoSo
2. % e

illlpD Ses 1more taxes on consumer gDDdS
; v ONEEH SHJoP 06 HY DdoSEo

gives subsidy to the goods
, . SRDOP @0 SO s¥o

Question Number : 59 Question Id : 5915042173 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Service activities related to finance, Insurance, non-movable property come under.
@%ﬁ, E)Eﬁ?, ?;mmvgg 0% H020000D5H
Options :
The media
e B8 Sreeissiren

Education
&Jcﬁé

2. %

Real Estate Companies
| o 58 HED Zowden

Public Admunistration
L Beb&areme albolgrolo

Question Number : 60 Question Id : 5915042174 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Economic liberalization means
©B% $8088m wdre
Options :
1mpose restrictions on exports
OO HEHoN DHHodEo



1mpose restrictions on imports
- B HoEHed HHosEo

removal of restrictions imposed by government
s v (D80S0 DHODS BB heH Fohobto

imposing trade barriers by the government
@tﬁné&c aﬂ:%ﬁéc‘;‘g w38 e HBoBEo.

4, *®

Teaching Aptitude
Section Id : 59150472
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 59150486
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 5915042175 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The most important indicator of quality of education in a school 1s—
2.8 s’ Oy GE) HIEHEEH 80D o8 SogrRod r0% —
Options :



Infrastructural facilities of a school
L% FETOS ST Hoarchen

Student Achievement level
Sjm?}ég&: RS %@t'cm

2. ¢

Classroom Management

SBH8NE ASsree

Text-books and Teaching-learning material
L% %éﬁ@éwm Lododw &S - SRS e0|A

Question Number : 62 Question Id : 5915042176 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What would you do to mnculcate the feeling of cooperation in students?
&m‘aﬁ%@éﬁ DPRE PHRD DoTFoHOSTIE DD & BwHDH?

Options :

Provide them with literature on cooperation
D8 R F&rEkn JSHEFGEH

1. %

Assign them group Project work

, 88 S (FBE HAQ Serono3EH
2.9



Show pictures and movies on cooperation
TS rdNR DES0oDH HBW Fod HBSE0eDH TrHoBTEY

Organize a special lecture on cooperation
VTS D @’5355 &séagﬁéﬁnﬁa K}fﬁgﬁwoacsé)

Question Number : 63 Question Id : 5915042177 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Teaching as a profession 1s preferred by you as
H88 2% HHare D% @S 3R, QoEdme
Options :
it entails less responsibility
a0 S50 mﬁcﬁéé EOR ao)®

1t 1s easy fo secure a job
B0&&? &555&5313 SoenHrre SoardosHii)

it 1s the only job that gives annual vacations
Zde0 &3 ﬁﬁ%ﬁcéﬁﬁ aﬁ&;lﬁ NONeD GoLTTON

you are interested 1n 1t

- :
L DN BotHE® i 50A 6T



Question Number : 64 Question Id : 5915042178 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The correct action to be taken by a teacher when exams are fast approaching and
syllabus 1s unfinished

$58Zen éféééﬁ 608, Houd FOHTIYPD af earegoing IeHHeRD SOFP $E;

Options :

Give study material and ask students to self study
DR ©Kiiohd (AR ©oBTR Srodhore [HHE KR Ko

1. %

Complete the syllabus by calling students home
TR 2088 HODOH dewd Fo DadEo

2. %

Complete the syllabus by taking extra classes in the school
v ardTrod’ 0Bk #8KdHen 800 LoD ?’qgjogéc‘d)cﬁo

Discuss mmportant questions and ask students to neglect other unfinished portion
SoogrIod [©BHo KHBoD 58100, TG B o G WFoSHR DoyBod IHKo

4. %

Question Number : 65 Question Id : 5915042179 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following don’ts for a teacher 1s incorrect
& (8od 08" ‘Gargoindd JO@HH T2’ ©IH SJP.

Options :



Don’t be empathetic
| D8 S%om eodso
Don't be indecisive

- @K}%Jéé %o soddo

Don't try to teach too much 1n one day
_ 2.8 B oo QEYDre SPRoS%ome Godso

Don't allow students to shout out answers
&mgégw LA aReD &gérﬁr 5@@@ NS0 NK0T GBokSo

4. %

Question Number : 66 Question Id : 5915042180 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Effectiveness of teaching has to be judged in terms of
SEEE° (HordHoso & weeoe K}gmcémé}é}oé.

Options :
Completion of syllabus

L x Dol Frg Ichdo

Students behaviour in the classroom
- Eelat: Ma Aol &vag}ég@ DXES



Use of teaching aids in the classroom
S8K8 KBS° S°§S N8 mEne HIFKSD

3. %

Learning outcomes of students

o v
v &)t::gﬂ%_}}&: @f,ima:rm HOeEeen

Question Number : 67 Question Id : 5915042181 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In response to learner’s questions, a teacher should
DTrgie BEHOD GFTEin (B8HBoSHODD EH

Options :
ask the learner to refer text book
DO FBDJEENS® HeEHR Bayo

1. ®

redirect the question to other learners
;4_: -
- =ite] &mgégﬂ..a © (HHD DYosto
provide a direct answer to it

o8 PSS JreraeR) BODEDE0
3.9

1gnore the question and continue
B DHBod EPdTrAcSEo

4. %



Question Number : 68 Question Id : 5915042182 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Among the following, the learner characteristic which strongly influences the
effectiveness of teaching is
2 X J =
& (80d &m@é&@ ﬂmEE“ﬂéﬁ, St %t'é::%&)& S0 S0,
Options :

Previous experiences and knowledge of learner

iy A n
L atﬁ"'é% S @viﬁﬂ ©NPTeen B 33;50

Educational status of parents of the learner
Dred EDXoe Doeparon
2. % e o 0@

Peer groups of the learner
DTegd STNY 2080
%® Jo

3.
Family status of the learner
Drcd Lenond FFine

4. % o8

Question Number : 69 Question Id : 5915042183 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following should be given least importance by a teacher
& (Bod T0S8° eargyaing o8 S50 [Ererds adiHeNs

Options :



Effective communication
éa‘nge{:oé@xm L& (Dardo

Good rapport with students
Dge & Hr0d) J$Yo058m

Command over subject
DRCHEOB P Dy

Cordial relations with peers

o QDTSRG E%)OCSOSE éé&omoww

Question Number : 70 Question Id : 5915042184 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following statement 1s odd man out?
& Bod 08" H& PHPo¥s?
Options :
Lecture method 1s used by most teachers
RSN écmSe‘ié @b¥ HHod &aﬂwgcﬁwﬂﬁ @35808520%5HH0d

1. %

Interaction in classrooms 1s usually one way
- SBK8 KHS® HEYB $B; erdesore at D) Go0od

Teachers knowledge 1s static
3 6PN cpddn HENG



Teachers are getting used to online mode
esavt;rgc‘dm.n ©38S Ao’ P8oSTRE weTrtnHEaedd

Question Number : 71 Question Id : 5915042185 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

From the list given below 1dentify the learner characteristics which would facilitate
teaching-learning system to become effective. Choose the correct code to indicate

your answer.
& (Bod 0&° éﬁcﬁé—@aﬁg‘éé D& “nﬁéageéoéc S0SeeR8 5"(‘.‘53 Vapiye
oferold HBoSod.

1) Prior experience of learner
&)wg% 65506;3 ©Sosaeen

1)  Aptitude of the learner
Deegd Sires rYso0

111)  Learner’s stage of Development
Degd BE) D&

1v) Leamer’s food habits and hobbies
&)mvé'}% cfb:ﬁg? VP8 woTre)y DB edhben

Code
Options :

1 and i1 only
| % Bdeo 1085w ii



1, 11 and 11
, e L1 SHdady 11
1, 11, 111 and 1v
1, 11, 111 8% 1V
3. %
11, 111 and 1v
11, 111 HH8cs%» 1V

4. %

Question Number : 72 Question Id : 5915042186 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Assertion (A): The prime objective of teaching should be to ensure learning.
Reason (R): All learning results from formal teaching.

Choose the correct answer from the following code:

85 (A): 588 Eo8), (578 oFo B8 ?JD;&OS&:;’F 6050

e8eedm (R) : g8 o Qahd £°6% HOSw

Options :

Both A and R are correct and A 1s the explanation of R
| % A HB» RBoie 583088, R $HBod A D806

Both A and are correct and R 1s the not the correct explanation of A
A $80» RBodkr 5833858, A%H R IBGDS d8es =2t



A 1s true and R 1s not true
a.@n R é@a

Both A and R are not true
A $8d5» R Sodr &y

Question Number : 73 Question Id : 5915042187 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The best method to discipline students 1s
Dogloe (EoBZnd ad & 98
Options :
Expelling the student out of class
Nayely SEK8 K& Dol weryBosso

1. %

Providing opportunity for introspection and correction
- ©d) D80S Hodckn Sy &é@:?émﬁjﬁ odsedo Edroddo

Silencing students with authority and warning of action
- ®HTE0 DB Emﬁg&ﬁéa 588 iﬁég} oo &mogdge.:éa K}i@rgorw BODS0

Reporting it to higher authorities
D wddHedH 8DcH FadhEo

4. %

Question Number : 74 Question Id : 5915042188 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question



Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Among the following , the exception to the factors that bring about student diversity 1s
& Bob 0&° &Jm@é&&:éﬁ VPR oD se8sred” BH HFEoD.
Options :
Learning style
| % ORI 3O

Soci1o economic status
Srodn¥ @gﬁ %503::

2. %

Problem solving skills

s éaﬁnﬁé é&éﬁg& é@tﬁ“g}@a

Exceptionalities
. O PEREETReD

Question Number : 75 Question Id : 5915042189 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The most important skill of teaching, a teacher should have is
2% ﬁ%m@tﬁnﬁ}ﬂ 60SIOVE SogyTo e S59ea50

Options :

Making students to learn

oS wirdosd Zahdo
1.¢ - ©



Keeping students disciplined in classroom
) % SBRERBSE° Dregioo (BS08Zee&” GoBE0
Completing the syllabus on tiume
; % Sore0d® LoD Frg IohEo

Being punctual and regular in taking classes
, e DS BE0E® SHochared HoBasn Rohivnds ardobio

4.

Question Number : 76 Question Id : 5915042190 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Which of the following is true about the amount of work that 1s required for an
online course compared to a traditional class?

Fro[Hmrcd S8KH0E" NY)KHE 8BS Ees° HAZwe=08 Sonosod & (Bod
T0&° $BEE6?

Options :
An online course requires less work
% BIBS B BO ELd

An online course requires more work
©38S B8NE° D0 S

The same amount of work 1s required for both
, » D0BOAS® BV Fmgo Sdrdo



A different amount of work 1s required for both
o Bo&oBS® HR Iwdo PR

Question Number : 77 Question Id : 5915042191 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
According to NEP 2020, the current 10+2 system 1s to be replaced by a new

curricular structure. What is the new curricular structure?

NEP 2020 =80 (o efend® 68 10+2 Doy Jedordo Srdméod.
K Doy Jdordo @ Dorr &od?

Options :

. 343+5+4

2.¢

2+4+5+4

(4d
_|_
".'.'i{'
e
_|_
L4d

Question Number : 78 Question Id : 5915042192 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Among the following who will have more chances of being a successful teacher

Da0HH0ERS Gareycingd w8 DBSE® D568 NENS ¥ ©os?

Options :



who can mamtain discipline in classroom
SBK8K6S° (B850 DB TroBaEd

who belongs to a fanuly of teachers
, % BT HEN0ENHH ToddT

who possesses ethical values
; % 8% Denden LOA 6HTB

who has skills to organise teaching and communicate effectively

v £54% K}égja’ma SoBAs» ‘;&é:géoé@ﬁ POl Tourd ot Q‘@mﬁé&n XOA 6@?&

Question Number : 79 Question Id : 5915042193 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The main aim of classroom teaching is
S8R&K0 B3 G Sowyg &s@ég}m

Options :
To provide information
JDHrrE S wodBahdo

1. ®

To develop inquiring mind

- @3&21025 ma%ﬁ) @@é@% Sa%do



To develop personality of students

QoEcne Qurdéd: e
3. % e S

To help students pass examinations

Dogien HOFpS” eifher ©HERE SEsoNE0
4. %

Question Number : 80 Question Id : 5915042194 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following must not be the qualities of teacher.
& (Bod MHeadoes® BP0 DA &oESed ©dddo S.

Options :

Punctual and Engaging
JFocdhared Hdusn Ao BeHEo

Empathetic and Patience
SFITS b L8

Task master and Disciplinarian
, v O0E° DapHEH DB EB0BEDHEE

Good communicator and Adaptable
00 JograHth Bk LS e

4, %



General English

Section Id : 59150473
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 59150487
Question Shuffling Allowed : Yes

Question Id : 5915042195 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Numbers : (81 to 85)



Read the passage carefully and answer the questions that follow:

As we approach the 21% century, we hear the quiet steps of a rising revolution for
gender equality. Women have greatly expanded their capabilities over the last few decades
through a liberal investment in their education. They stand ready and prepared to assume
greater economic and political responsibilities. And technological advances are on their
side m this struggle. Progress in technology 1s already overcoming the handicaps women
suffer in holding jobs in the market, since jobs in the future industrial societies will be
based not on muscular strength but on skills and discipline. It is quite clear that the 217
century will be a century of much greater gender equality than the world has ever seen
before.

Sub questions

Question Number : 81 Question Id : 5915042196 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The passage 1s mainly about
Options :

, the 21% century

- technological advances



, » gender equality

, Jobs i the future
4.

Question Number : 82 Question Id : 5915042197 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

According to the passage, women’s capabilities have increased because of
Options :
| % arnsing revolution.

- technological advances.
, » greater economic and political responsibilities.

, , greater investment in education.

Question Number : 83 Question Id : 5915042198 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

According to the passage, women’s struggle 1s being supported by
Options :

| » therr education.

, » technological advances.



- their capabilities.

. needs of the future industrial societies.

Question Number : 84 Question Id : 5915042199 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
According to the passage, jobs 1n the future will require

Options :
| % 11101 WOIII€T].

, » skills and muscular strength.

., skills and discipline.

, » education and technical knowledge.

Question Number : 85 Question Id : 5915042200 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which word 1 the passage has the same meaning as ‘generous’?
Options :

. Equality

, » Liberal



 Assume
3 %

, = EXpand

Sub-Section Number :

2
Sub-Section Id : 59150488
Question Shuffling Allowed : Yes

Question Number : 86 Question Id : 5915042201 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Choose the word with the correct spelling.
Options :

. Definetly
1. %
, » Detfinately
, » Definitely

, » Publically

Question Number : 87 Question Id : 5915042202 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Choose the word with the incorrect spelling.

Options :



.. Unfortunately
Uniformally

L

« Literally

~ Immediately
#

Question Number : 88 Question Id : 5915042203 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The synonym of ‘disparate’ 1s
Options :

- hopeless

, » anxious

, » balanced

L different

Question Number : 89 Question Id : 5915042204 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The antonym of ‘refrain’ is



Options :
| » retrain

, » Indulge
| . SIng

4 % strain

Question Number : 90 Question Id : 5915042205 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
To ‘put your foot in your mouth’ 1s to
Options :

| » deliberately say something to hurt someone

, » say something wise

- accidentally say something foolish

. remain silent

Question Number : 91 Question Id : 5915042206 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Collection of coins 1s called



Options :

mMNemonics
1. ¥

numismatics
2. ¢

, » plilately

. numerology
4.

Question Number : 92 Question Id : 5915042207 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Fill m the blank with the appropriate word.
Madpras 1s the name of Chennai.

Options :

L tormer

, » farmer

~ formal
3. %

, % frmer

Question Number : 93 Question Id : 5915042208 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

Fill m the blank with the appropriate determiner.
His new TV has LCD display:.

Options :

1. ® é
, % the

, x any

4 dll

Question Number : 94 Question Id : 5915042209 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Fill m the blank with the appropriate determiner.
He has made mistakes than yesterday.

Options :

. » much

, » too much
, « less

, » fewer



Question Number : 95 Question Id : 5915042210 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Fill in the blank with the appropriate preposition.
The principal presided the meeting.

Options :
1. # .

, » on

, » Over

4% 10

Question Number : 96 Question Id : 5915042211 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Fill m the blank with the appropriate prepositional phrase.
a fire, use the staircase.

Options :

~ Instead of
1. %

, » Inspite of

3 In case of



~ In favour of
4. %

Question Number : 97 Question Id : 5915042212 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Fill m the blank with the appropriate phrasal verb.
Loud music a headache.

Options :
. brings forth

-. D-
- brings on

brings out
3. % -

, » bringsup

Question Number : 98 Question Id : 5915042213 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Identify the part of the sentence with an error.
She 1s trying hard to cope up with the situation.

Options :
1s trying

1. *



, » hard

, » Copeup

, » the

Question Number : 99 Question Id : 5915042214 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Identify the part of the sentence with an error.
If T had known of your arrival, I would meet you.

Options :

It

1. *

, « had known
of

4 would meet

Question Number : 100 Question Id : 5915042215 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The word “stalemate’ 1s associated with

Options :



. cookery
, « chess
., boxing

. anmimal husbandry

General Knowledge and Educational Issues

Section Id : 59150474
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30
Section Marks : 30
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 59150489
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 5915042216 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The International Day of Education was observed every year on
@cét:;iéw ey &:Saéhjéeén (@& Jod&HBdw 2HHHI I8,

Options :



January-21
235%56-21

January- 24
, o 3806-24

September-5
Road-5

October-5
B8 -5
[

Question Number : 102 Question Id : 5915042217 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Identify who won the Nobel Prize for Literature in the year 2020
S°BS 250508 2020 Frirdio S0t roda B

Options :

Paul R. Milgrom

8. ub. S (P

1. %

Robert B.Wilson
, x 0°00 8. dNS



Louse Gluck
erronn B
3. ¢ ™

Andrea Ghez
wo|BcH RAE

4. %

Question Number : 103 Question Id : 5915042218 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The “Algebra of Infinite Justice™ was written by
D oSZer ©P B 2P PE SPond

Options :

Katherine Mayo

| % S8 Srd

Rabindranath Tagore
5oBceE ©oKrs

Jane Austen

oS B
3. % £

Arundati Roy
v ©B08S TodD



Question Number : 104 Question Id : 5915042219 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Avushman Bharath (PM- JAY) was launched by Hon’ble Prume Minister
of India on
©wd0er)S 88 (PM- JAY) 588 (35785 Hool@ (78080 86

Options :

L ¢ 23-09-2018
, » 12-05-2019

25-09-2019

3.%

L 23-09-2020

Question Number : 105 Question Id : 5915042220 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Match the following
2388 HBHE0
Group —I
$oedy -1
Nandadevi National Park
L0689 =&k ﬁmvgjéﬁaéo

B Kaziranga National Park
EB80K crdah &R R80

¢ Sunderban National Park
2008828 8cdh emesSto

D Keoladeo National Park
BErerd@r Bah ergddso

Choose the correct option
S008 JXrgrarl) Wwiowod

Options :

_« A-l, B-3, C-2, D4
,« A-l. B-3, C-4. D=2
. x A2, B4, C-1, D-3

[o—

2.

S

4.

Group —1II
K -2
Rajasthan
TS

West Bengal
58X Borrd

Assam
@%330

Uttarakhand
&Soegros



A-4, B-3, C-2, D-Il
4.9

Question Number : 106 Question Id : 5915042221 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

According to National Education Policy -2020 by how much percent the
Gross Enrollment Ratio in Higher Education to be raised

B DodEdEW-2020 (Eoedsm e Dy Sod Sre $3reh )8
S0 ool Srdodb.

Options :

. 20%

0/
4' \:/ 50 f"{}

Question Number : 107 Question Id : 5915042222 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
“Yellow Sea’ 1s located between which of the two countries
D0H -Jw|Bo’  Bod Gz aﬁ:cﬁé Lo

Options :



China and Japan
Soe 85y a2aP

Korea and Japan
B80S B 2l

China and Malaysia
3o 85 HShaPr

China and Korea
_, BF dan 5Bk

4.+

Question Number : 108 Question Id : 5915042223 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
South Africa currency Name is
SEee (@ 56&5‘:] oo
Options :
Rand
| v o0&

Euro
7 % Gﬂ:ﬁ‘ﬁn



Manat

- Kodes
Dinar
&6

4, %

Question Number : 109 Question Id : 5915042224 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The Union Budget 2020-2021 allocated for Education Sector of India 1s
5 B D) QDS 28 2020-2021 JoB)550s" dumgSorrds
Zeronodd Qen

Options :

70, 300 crores

70, 300 £°%¢p

80,500 crores
80,500 Eaé.g

2. %

91.000 crores
. 91.000 &5
3. [z
99, 300 crores

99, 300 S
4.



Question Number : 110 Question Id : 5915042225 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Identify the article which directs the Primary Education in schools shall

teach in Mother Tongue
FEFTS (FPE eow Hoth Srd)rad® 8765 wdmod Srdod ©QES

Options :

Article -45
@d¥S5-45
.& 9
Article -29(1)
&1955—29( 1)

2. %
Article -28(1)
wdE5-28(1)
e ®
Article-350 (A)
©d55-350 (A)
sy %

Question Number : 111 Question Id : 5915042226 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



‘Madagascar’ 1s a / an
Bo8refD s .8

Options :

Mountain
880

1. #

Island
AT
2.¢

Desert
0

3. %

River
4. ® 5&?

Question Number : 112 Question Id : 5915042227 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Prakash Padukune 1s associated with which game
B8 HH%HD & Eoe Eorrdd [omododHTE
Options :

Cricket
1. % @Eé’?



Table Tennis
BooS BYD

2. %

Badminton
- mﬁ&éo o))

Judo
2388

4. %

Question Number : 113 Question Id : 5915042228 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Match the following
Bod & e3e8HBo0dw

Group -1 Group I
-1 =52
A, NUEPA. L. 1953
B. UGC 2. 1541
C. NCERT 3. 1962
D. UNESCO 4. 1945
Options :

A-3, B-2 C(C-1, D4

1. %



Question Number : 114 Question Id : 5915042229 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
SWAYAM Means
SWAYAM e
Options :
Study Webs of Active — Learning for youth Access minds.
‘é’_]}é 38) 8 cﬁ:vg.S ©B8)oR B chrs eE)R ok

Study Webs of Active — Learning for young Aspiring minds.
- ‘Qé‘ 3 B cﬁ:agﬁ ©B8)oh HE choh wR)Bon Fo&)
Study Webs of Active — Learning for young Age minds.
- ‘Qé 3 & wg‘ﬁ oB)oh 6 dhoh 2F Do&)

Study Webs of Action — Learning for young Access minds.
éé 30) 8P LS ool H6 dhon eB)0 Dok)

4. %

Question Number : 115 Question Id : 5915042230 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question



Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The pH Level of blood of Normal person 1s
et 8 Soth 85w @) pH @Sw

Options :
5.8-59

1. %

L« 6.45-6.65
, v 1.35-7.45

.« B65.8.75

Question Number : 116 Question Id : 5915042231 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which one of the following 1s ‘Magna Carta of English education in India’
‘PBEBI0E” wor Dy Bog) &) ST @R BIE .

=4

Options :

Hunter commission
Fe0erb B&HRD

1. #

Wood’s Despatch
6&) V368



Mudaliar commission
s » S0BO0E DS

Kothari commission

, Fo°b Z&HRS

Question Number : 117 Question Id : 5915042232 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The first chairman of ‘University Grants Commission” was
‘CrRSHS (o) SRS kB BEHS L HBoHos.
Options :
Dr. D.P. Singh

%5 &.5. %on
1. ® €

Dr. D. S. Kothari
55 &. oHD o8

Prof. Yashpal
(P38, cDErS

Dr. S. S. Bhatnagar
55, oS, oD, FPerynd



Question Number : 118 Question Id : 5915042233 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Indira Gandhi National Open University (IGNOU) was established in the year
S0BT o) BADH EYSE HF Do ahBn TN DoBHEBso

Options :

w1947
L. 1961
s » 1985

_ 2000
4, %

Question Number : 119 Question Id : 5915042234 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Gandhij1’s scheme of Basic Education was propounded 1n the year
rrofd Gt (RS D HFPto & JoBK)Bos® (Heardosniod

Options :
w1933



1936

4. %

Question Number : 120 Question Id : 5915042235 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

According to RTE Act 2009 it prohibits to collect any capitation fee, while
admitting a child in school deals with the section

Doy T, $5¢30-2009 (HrdEn dughed FiTes” HIBoHLHER SHELS.

Boodm Va0 30D VES.

Options :
Section -13
-— }4 s i
v n}ﬂ5 13

Section-14

) 5 - 14

Section-16

- ES - 16
3. %

Section-17

% 5 - 17

Question Number : 121 Question Id : 5915042236 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



‘ALL LEARN’, * ALL PROSPER’ is a slogan of the Prestigious Programme of
‘VoBEE S5O, ‘WoSr BT ©I3 dTSos |FEodoSnE (D8R ==gEo
& &)
Options :
Sakshar Bharat
. LS FES

Sarva Shiksha Abhiyaan
S8 BE @IS

2.9

Operation Black Board
| x BI0AS o£f &G
District Primary Education Programime
oE = o

Question Number : 122 Question Id : 5915042237 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
To estimate the personality of a student in many incidents, behaviour in different
situations are observed and recorded in

D5 £D506%°0 3% Josherden, YL éocﬁcaﬂé‘s (55803 &% H64D0 noh&®
B3 BohEo wed SwedHEeR) wodTe IchEo wBHH0B.

Options :

Sociometry

P OSEDS

1. %



Checklist
EEE}E

Situational test Record
SQYDE H6F o=

Anecdotal Record
£ Soshed BEepatat2

Question Number : 123 Question Id : 5915042238 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The New mullennium teacher 1s addressed as
ST éa’:ﬂ@%}eﬁﬁ BaREycol see 80

Options :

A Director

2.5 656,335.363

A Philosopher
2.8 &8

A Learning Facilitator

- s @2;55:636 Slelnrlote!



A Speaker
5

4 2 ﬁéabé‘éfac‘ﬂ:

Question Number : 124 Question Id : 5915042239 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In learning disabilities the name for mathematical disorder 1s.
@ Bexodoh KBS HEDH Ko
Options :
Dyspraxia
. & (a8 oS

Dysiexi
, x GRBY

Dyscalculia
&S DO

3.¢

Dysphasia

L« BODOL

Question Number : 125 Question Id : 5915042240 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



The total Literacy campaign was first started in the state
Sn&eore J0Y ©FTeS (DTEE0 (800 TeREW.

Options :

Andhra Pradesh
ol (HBS

1. %

Gujarat
, w 10208

Mizoram
wEforo

Kerala
28

4.

Question Number : 126 Question Id : 5915042241 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The Drafting Committee Chairman of the National Educational Policy-2020 was
8D Doy HdEn ~2020 B e [Roh Ed BYS e HBTB0RHTE.

Options :

Dr. D. S.Kothari

- mgg. 8. cdHn o8



Dr. Arun S. Nigavekar
o508, ©BHE DD, VKIES

2. %

Dr. Manmohan Singh
£8. HHIIrS doh

Dr. K. Kasturirangan

4 v GF0. B. EImBBonS

Question Number : 127 Question Id : 5915042242 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Who gave the suggestion to divide the secondary level curriculum into course —A and course-B?

DK JoeSde B &s@é%;cm a"éé@ﬁ"@ﬁﬁ} EE&J—Q K80 Eﬁéa;,— 8 K FRoDTH?
Options :
Hunter Commission

, &owB shoaS

Mudaliar Commission
- L0&0005E EHHD

Kothari Commission
, x So°b EQkS



Radhakrishnan Commission
cm;Pﬁe)@S =TI

4. %

Question Number : 128 Question Id : 5915042243 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
As per the United Nations Convention on the Rights of the Child (UNCRC)
‘Play’ 1s an every child Fundamental Right as per the article.
DEoeegd8 hye e 36% (UNCRC) (=850 8 «3b (8 wrend (35805
Ly 0 80 ©fES.

Options :

L= 14

18

2. %

Question Number : 129 Question Id : 5915042244 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
National Council of Education Research and Traiming was established in the year
B Doy HOEES B S0 DB SoDHe)BEm

Options :



Question Number : 130 Question Id : 5915042245 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
In a Continuous Comprehensive Evaluation (CCE) Comprehensive means
QBoSBd I Harergosto Soth JHHo el @th.

Options :

Curriculum Development
e 5 o] N
L ey (Sdeae@ @5})5%%

Class work
) % S$5K8 HQ

All aspects of student’s Development
e 56&@5}?@@@%

3.¢

Home Work
L x 308 3D



Computer Awareness

Section Id : 59150475
Section Number : 5

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 59150490
Question Shuffling Allowed : Yes

Question Number : 131 Question Id : 5915042246 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A light sensitive device that converts drawing, printed text and images

into digital format 1s known as. ...

Geowoh, Qo8 &) Sk a0 &26HS oS $°30) 8BS DYBS H8ZTeRY
DS00ETB?

Options :

Scanner
v %@55

Printer
, » (2085



Keyboard
85°5
® [

3.

Plotter
Ev o]

4.% ™

Question Number : 132 Question Id : 5915042247 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following command used to break the current column and start a
new column immediately in MS Word?

558 oD YKo IchERB HHdcsn MS égéﬁ ot Y oSl
E0DoSTR8 & (Bod wBTes® 8 6dIrRolnth&od?

Options :
. Press Ctrl + Shuft + Enter

, » Press Alt + Enter
- Press Ctrl + Enter

L Press Alt + Shift + Enter

Question Number : 133 Question Id : 5915042248 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0
Firewalls are used to protect computer with
& Loxyebty 8BodmeR8 pSard) edG@rAoSnieron

Options :
Ant1 Virus
ABrodIED

1. #®

Virus Attacks
IR Tetden

Fire Attacks
ofy) e0eD

Unauthorized users
@S DLTrRren

Question Number : 134 Question Id : 5915042249 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In MS-Power Point Presentation slides, to insert a new slide in the presentation
which of the following 1s the short cut key?
MS- 558 aranod HRoBAS R FoE’, [BEEHSE° 58 D 5% hoseRs Bod &S

P55 g 58

Options :

o, Cul+s



. Ctrl + A

2.

- Ctrl +N

., Crl+M

Question Number : 135 Question Id : 5915042250 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In MS-Power point Presentation slides, to save the presentation which of the
following 1s the short cut key?
MS- 555 oot ({HRoBIS Q. Fod® DS Sche-08 55 & Da?

Options :

]'JCT1‘1+S
- Ctl+ A
; » Ctrl+N

4, ® Ctrl +M

Question Number : 136 Question Id : 5915042251 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



To save word document in encrypted form, which of the following is correct?
$8 weERosK H8HEBONE ErHos® S TaeeRE, 8od oBSE° Db JPKB?
Options :

Go to File > Info > Protect Document > Encrypt with Password.

Lo 25 2J%rodo > dleRy Bfod >EPRNEE" 505580508
Go to File > Info > Encrypt with Password.
. 2O Srerdo > FREEE" %o8880508
2,
Go to File = Encrypt with Password.
L x 2O > FRNEE %:8880%08
Go to File > save > Protect Document
26 > 2D > JlEed) 8o

4. %

Question Number : 137 Question Id : 5915042252 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

To check the spelling and grammar of a text in the document, which function key is used?
JEoSR H5do S¥) Yoh Hdasn TEBeRY $09 IcHzR8, O DOES 2
60@BrRoBH &R ?

Options :

E7

1.¢



Fl

2. %

Question Number : 138 Question Id : 5915042253 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following is operating system?
208 TAS® wddoh 2ID &7
Options :
C++

1. =

. JAVA
3. % C

4 Linux

Question Number : 139 Question Id : 5915042254 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Who are the targets for modern day hackers?
0% ﬁ;ﬁg @égp QDB ?



Options :
Banks and Finance companies

c:e,sofa&n QHBaa @gﬁ {Jo%@:
1. %

Companies which holds credit card numbers of customers
EQ808 BAE =5 DJoggedd DA ey Xo0en

Finance companies which holds property
w ZOA &) ©f% Jove
== @ [

Any individual or organization liable to be the victim
B K8 S o HHD

Question Number : 140 Question Id : 5915042255 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Any organization generally have the following in its domain name?
2.8 D0 Srprdeeort ool &S 05SE° Bod B LOA &onod?

Options :

| % -
, » -edu

L OTg



, % -com

Question Number : 141 Question Id : 5915042256 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Who 1s the founder of WWW?
WWW ééaﬁagéfacﬁ: QDB?
Options :

Tim Bemers Lee
, a5 56&5{3 o

I

Bill gates
HS R

2.%

Martin Cooper
. &0°BR Eb
3% 0

Kevin Systrom
ELUSRSTSY

4, %

Question Number : 142 Question Id : 5915042257 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the acronym of USB?
USB &@n¥) r88rddn d80e?



Options :
Universal Serial Bytes
L, SSRGS 2BoHS BY

Universal Serial Bus
cﬁnvﬂ}aédr;]ef 58058 29

2.

Universal Sequential Bus
3 % CrREGS fﬁﬁé%cﬁad? 200

Universal Sequential Bytes
| ChrREE)S SEREHS BeY)

4.

Question Number : 143 Question Id : 5915042258 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s NOT a Web Browser?
808 &S 3N (FPxb =08 6?
Options :

Internet Explorer
50¢8)85 HEEELE

1. ®

Google
, o RS



Chrome

Firefox
Folefvids!

4. %

Question Number : 144 Question Id : 5915042259 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The basic unit of a worksheet into which data can enter in MS Excel is called as....
MS dB)5&° Bére 3 Bohke SE RS T (FHeE CHTRSD ........ ©OLFED.

Options :

Unit
| % C50eRES

Pixel
2.7
2. ® GJU‘JS

Cell
v RS

Column
O

4. %

Question Number : 145 Question Id : 5915042260 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question



Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

By default, How many sheets will be created, when a new Excel file created?
o@Dohorr, B8 IS S GHRoSaBSY IRy ) QYRoSweron?
Options :

1.331

2. % 2
-5
3. 2

w4

4,

Question Number : 146 Question Id : 5915042261 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following i1s NOT a audio-video conference tool?
208 T8 D6 &I - HBEBr RO &P See?

Options :

Zoom
237050

1. ®

Google meet
- KS &S



Webex
EJEE-‘J

3. %

Yahoo

e

L ASFsFT=

Question Number : 147 Question Id : 5915042262 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What 1s the function of CTRL + C 1in Microsoft word?
DE°FF $& 6° CTRL + C Gw) $O D&?
Options :
It converts selected text into Italicized
28 D0HBK) SR 2erdEr Hrddyod

1. %

It 1s short cut key to save the document
L x DR DS BoHweRs ad P 86 &

It 1s short cut key to print the document
. HleeRy ©ots SoHeRE =8 apf &5 &

Short cut to copy the selected text
| o DODBY) SSTRY 58 BOERE r§ 86

Question Number : 148 Question Id : 5915042263 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question



Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

What does SMS stand for?
SMS BR& S dpod?

Options :

Short Mobile Service
, bf B $6:0

Short Media Service
- 4] &S D6

Short Message Service
S, AAT
3 FE RS 365

Send Mobile Settings
086 IwnBS DEoA |

4. %

Question Number : 149 Question Id : 5915042264 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the binary equivalent of the given decimal number (42)4?
W Bzeod Jogrd B 35S0 DB (42);0?
Options :

(10110)g

1. #



.+ (101010)
_, (101100),

, » (110000)¢

Question Number : 150 Question Id : 5915042265 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The header and footer conunand are located on the tab in word document.
TPEE 08050 HWE Erol $§ R0t E°R e & eamaw.

Options :
Home

- 5%

Insert
[
L v aneg

View

o
SogEes

3. %

Header
o nts)

4. %



